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Continuing Patterns Name:

Determine which choice best continues the pattern.

1)

3)

7

2

Determune which numbers best
complete the pattern below.

lo4]85]76[67]38] 2 [ 7]
A 7.4
B. 40,31
C. 49,40
D. 49,58

Dietermine which numbers best
complete the pattern below.

[26]30[34]3s|a2] 2] 7|
A 44 48
B. 50,54
C. 46,50
D. 38,34

Determine which mmbers best
complete the pattern below.

[49]44]30]34]20] 2 | 7]
A 25,17
B. 19,14
C. 24,29
D. 24,19

Determine which mumbers best
complete the pattern below.

l64]61]58]s55]52] 2 | 7]
A 49,52
B. 50,48
C. 49,46
D. 46,43

Determine which numbers bast
complete the pattern below.

[33]41]a0]57]65] 2 | 7]
A 74,80
B. 73,81
C. 57.49
D. 81,89
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Determine which mimbers best
complete the pattern below.
lg6]77]68[39]50] 2 [ 7]
41350

41 32

32.23

30,30

00w

Determine which mumbers best
complete the pattern below.
la1]s1]61|71]21| 2] 7|
A T1.61

B. 101,111

C. 91,101

D. 92,103

Determine which mumbers best
complete the pattern below.
l18]25]32]30]46| 7 | 7 ]
A 5. 62

B. 30 32

C. 60,67

D. 53,60

Determine which mimbers best
complete the pattern below.
l108] 99 |90 [81]72[ 7 | 7 |
61355

63,72

34,45

63,354

00w

Determine which mumbers hest

complete the pattern below.
[25]30]35]40]as| 7| 7]
A 3055

B. 49.54

C. 40.35

D. 35,60
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Answers



